Mini-Exam 2 ' Name:

1. (a) Convert “miniexam’ into numbers.

; o2 | & 7

0 3 113 L4 | 10
" v & v L o L (.f-

(b) What vowel goes with the number 27

2. (a) What consonant goes with the number 327

) B \} EL i H | ,'\"“/'

| 4

(b) What consonant goes with the number -27
~ A = :f L{ }\

—— ) -t o *
i
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(C) What vowel goes with the number 437,578,3%1 ?/' (four hundred thirty seven million five hundred seventy
eight thousand three hundred eighty one)

\ A
| 7
3. (a) Where does the shift by 2 cipher take miniexam? .

. ; - ; ) ) i f l -),f i B - - )
26 13 64 < 3 1A FUQUOZ2LE
Pk & B8O 2 L .——
(b) What was shifted by 2 to get IEJEVWEV?
- ‘ >~ ) £ 4 ' . Tl all W <4
32 FNERAT A GUSTUS
050 1516 0 i5 L g O BT

BAue U S T U 3 -
4. (a) What shift turns miniexam into PUQUOZIP?

o
L

(b) What shift turns miniexam into VINIEGAV? (harder, explain your answer)
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5. A shift cipher was applied to a short English sentence to get A OW POLIVEIC

(2) How many words did the sentence have before it was encrypted?

Jo O\ >

1 (
) -

(b) How many letters did the first word have?

| Hia= T~ A ) |
§ \ -’f..' / R C \ V AL/ {

(c) What was the first word (probably)?

| (@) |

(d) What did the message (probably) say? NAM D To by e
T & A A T U, E>( AU 7 T —
C C iy ) i | 9
> T3 So L -}r‘ 10
T (AT fA7(70W0 ! \ "3 E /1AM
6. (a) Where does the double-it cipher take bat? v—=> L\ FABucov>
i |16 [ = i o —
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(b) The double-it cipher was applied to an Enghsh word to get LFEJX. What was the original
word? - _—
LFEIX Sl
CI I,{ ){ l( (t"i / < f/'(.’ | :;.) ./
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& - : e —
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7. (a) What happens if you encrypt a message more than once? For instance, is there a

simpler way of describing the “triple-ripple cipher” other than “ﬂrst shift by 5, then shlft by
9, then shift by 5 again”? /
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Mini-FExam 2 Name:

1. (a) Convert “miniexam” into numbers.

0,3,1,3,2 19,1 10

(b) What vowel goes with the number 37

e

-

2. (a) What consonant goes with the number 307

Lo-]| = z_\ |
--\ ‘\.«’J ~ \
)

(b) What consonant goes with the number -37

2sq| =16, W

(c) What vowel goes with the number 437,578,38_‘2?. {(four hundred thirty seven million five hundred seventy
eight thousand three hundred eighty two)

A E

3. (a) Where does the shift by 3 cipher take miniexam?

13,6,14,65,22,4,13  QALAUBOR
(.\ A RA L\ B O ( |
(b) What was shifted by 3 to get GOUWOV?
GYH4E 1%, 4. 13 3 A A
1,9, I¥, | =y )
2,03, 18014 (TAESAK
CAESA R

4. (a) What shift turns miniexam into ZOBOILEZ?

v -”"‘*‘} | f o 'f
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) g )
(b) What chift turns miniexam into RISIECAR? (harder, explain your answer)
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5. A shift cipher was applied to a short English sentence to get U IB ILOHABOC.

(a) How many words did the sentence have before it was encrypted?

) |

(b) How many letters did the first word have? /

-—(\-- h f(‘ 5 L VOLE { /ff

(c) What was the first word (probably)? i ‘,

/ ;’ » wake 2
i J"f L ol ‘{ Vst ‘t \é ALt ..:\E-","‘

| < 1 n
\ luoie 2¢

.0l 4 VL
Fid 5l \,"‘

(d) What did t)lze message (probably) say?i y _
:\/)\ —_— _L ad T “-);-,l ’. NN L,‘ _‘ ’,J‘A ()

< (A7) ATET07E

6. (a) Where does the double-it cipher take day?
3|20
bd "0

H EX
HE X e

(b) The double-it cipher was applied to an English word to get MPILN. What was the original
WOId‘? l;~ il )L( !E
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GHOS T \ -

7. (a) What happens if you encrypt a message more than once? For instance, is there &
simpler way of describing the “triple-ripple cipher” other than “first shift by 5, then shift by
7, then shift by b again”? W eoncopeite by =Y

e }

o
—

(b) Is the triple-ripple cipher three times as secure as a regular shift cipher?
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Mini-Exam 2 Narne: ;..f ™y

1. (a) Convert “miniexam” into numbers.
. -2 o \ /- )
o 3 N3 ,2A 14| |0
(b) What vowel goes with the number 47
o
@
*-.__/
2. (a) What consonant goes with the number 407
Ho-a1= 19,
A =19, X
(b) What consonant goes with the number -47

2l =07,V

(¢) What vowel goes with the number 437,578,3837 (four hundred thirty seven million five hundred seventy
eight thousand three hundred eighty three)

Qe L

/

S

3. (a) Where does the shift by 4 cipher take miniexam?

4,

= & 3 2 £~ ) e B 7 2,

715,76, 83614 RESEACUR
a v ¢ vv ¢ vya

(b) What was shifted by 4 to get NOQEOX?Y

I, 4,13,2,4 19

2 0,430,105 —> JULT AS

4. (a) What shift turns miniexam into CADAUNOC?
) V) ,)\H“F{' {’y ' )
23

(b) What shift turns miniexam into DIFIEPAD? (harder, explain your énswer) \

~N 2 s i - d> =5 25
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5. A shift cipher was applied to a short English sentence to get E UR URUFESL

1\
(a) How many words did the sentence have before it/ was encrypted?

(c) What was the first word (probably)?

P i |
} !‘ y (& J) y _\ ‘I 14 VL I'I' L
I
[ N €nic {
(d) What did the message (probably) say? AM / Best Clowcs S>> N Lossil J
E<=1 50 (A24 - S M Saved | LG
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6. (a) Where does the double-it cipher take cat? a = -
';_i Lo ‘}f / il
2 i l {~ f !j T
q 2 §'.,‘. | l t
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(b) The double-it cipher was applied to an Enghsh word to get YIBLNOJ. What was the
original word? YN T B & ~OT

/

w3414 MONSIER
lo o 2 15 1§ A I ~~ au_ '
MoNSTER

7. (a) What happens if you encrypt a message more than once? For instance, is there a

simpler way of describing the “triple-ripple cipher” other than “first shift by 3, then shlft by
8, then shift by 5 again”? &1 1
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(b) Is the triple-ripple cipher three times as secure as a regular shift cipher?
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